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BOOKLET A

Instructions to Pupils:

Do not open this booklet until you are fold to.do so.

Follow all instructions carefully.

Shade your answers in the Optical Answer Sheet (OAS) provided.
You are not allowed to use a calculator.

oor PN s

Answer all questions.

Section Maximum Mark ~ Marks Obtained
Paper 1 (Booklet A) 20

* This booklet consists of 7 pages (including this cover page).




Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the
Optical Answer Sheet.

All diagrams in this paper are not drawn to scale unless stated otherwise.
. . (20 marks)

1. Round 132 658 to the nearest thousand.

(1) 132000
(2) 132600
(3) 132700
(4) 133000

2. What does the digit 9 in 5.492 stand for?

(1) 9 ones

(2) 9 tenths

(3) 9 hundredths
(4) 9 thousandths

3. In the figure below, PQRU and RSTU are rhombuses. Which of the
following pairs of lines are parallel?

P Q
U R
T S
(1) PQ and RS
(2) PQand TS
(3) UT and PU
(4) UT and UR
2

(Go on to the next page)
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4.

5.

6.

5
Mark and John collected some stickers. Mark collected 3 of the total

number of stickers. What is the ratio of Mark’s stamps’to John's stickers?

(1
(2)
(3)
(4)

Sherry scored an average of 30 points for 5 basketball games. What is
the total number of points that Sherry scored for the 5 basketball games?

(1)
(2)
(3)
(4)

6
25
35
150

The table below shows the number of pupils in four classes.

Class Number of Boys Number of Girls
6A 15 25
6B 18 23
6C 22 17
6D 20 22

What is the total number of pupils in Class 6B?

(1)
(2)
(3)
(4)

39
40
41
42

{Go on to the next page)
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7. What is the value of 0.63 x 2007

(1) 0.126
(2) 1.26
(3) 12.6
(4) 126
8. in the figure below, not drawn to scale, ABCD is a four-sided figure made

up of a rhombus ABCE and an equilateral triangle AED. Find £ABC.

VANMN

(1) 60°
2) a0°
(3) 120°
(4)  150°
9. The figure below shows a semi-circle. Find the perimeter of the figure.

(Takem=2")

(1
(2)
3
4

N
L
1

14 cm
22 cm
36 cm
44 cm
58 cm
4

(Go on to the next page)
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10.

11.

Arrange these fractions from the smallest to the largest.

@

In the figure below, WXV is a triangle and VXZ is a straight line.

R
’ 10’ 4
Largest

3 8

10’ 5

8 7

5.’ 4

7 1 3

4’ 10

& 3

5’ 10

ZWXY is twice of ZYXZ, Find £ WXY.

(1)
)
(3)
4)

30°
40°
80°
80°

52°

W

68° Y

(Go on to the next page)
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12.  Aisha baked an equal number of chocolate muffins and banana muffins.
She gave Liling 28 chocolate muffins and 10 banana muffins. She gave
the remaining muffins to Jane. Jane received 1 chocolate muffins for
every 4 banana muffins. How many muffins did Aisha baked at first?

(1) 18
(2) 24
(3) 34
(4) 68

13.  The figure below is made up of 2 squares, a rectangie and a triangle.
Find the unshaded area of the figure.

18 cm

(1) 120 cm?
(2) 152 cm?
(3) 240 cm?
4) 272 cm?

(Go on to the next page)



14.  The figure below shows a box which can contain exactly 8 identical cubes.
The volume of all the cubes is 216 cm®. What'is 1€ length of a cube?

15.

(1)
(2)
(3)
4

6 cm
9cm
3em
27 cm

3
Samad bought some fruits. 5 of the fruits he bought were apples and the

1
rest were oranges. <

6

1
of the oranges and 3 of the apples that he bought

were rotten. 240 of the fruits were rotten. What is the total number of
oranges that Samad bought? '

(1)
(2)
()
(4)

80

144
360
900

{Go on to Booklet B)
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BOOKLET B

Instructions to Pupils:

Do not turn over this page until you are told to do so.
Follow all instructions carefully,
Answer all questions.

dAON =

- Use a dark blue or black ballpoint pen to write your answers in the space
provided for each question.
5. Do not use correction fluid/tape or highlighters.

o

You are not allowed to use a calculator.

Section Maximum Mark Marks Obtained

Paper 1 (Booklet B) 25

* This booklet consists of 1_(_)_ pagés (including this cover page).




Find the valuewof 3j + 23 when j =14,

Ans!

BP-278

Figure A

Nafie all the figures below with at [8ast 1 1ife of Symimetry.

Figure B Figure G Figure'D

FlgureE

Find the value-of -g * 8.

(Goo o tothe next page)
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19. I this month, Colin sold 200 more handphones than he sold the previous |Do not write
month. This was.a 40% increase from the number of handphones he had | s space
sold the previous month. How many handphones did he sell this manth?

Ans:

20. Kelly faces the supermarket after turning 135° in an anti-clockwise

direction.
Library
&
Supermarket School
/ N
Clinic. «——— Kelly > Bus Stop {
Police Post | Food Court
Playground
Where was she facing at first?
Ans:

3 (Go on to the next page)
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Questions 21 16 30 carry 2 miarks each. Show yourworkings clearly in the space Dohot virite
provided for each question and write your-answers in the spaces provided. In this Space
For guestioris Which: require units, give your-answers inthe units stated.

Afl diagrams in:this paper are not drawn to:scale unless stated otherwise.

21.  Kumar used some wires to make the following figure. The figure is made up
of 3 semi-circle arcs and =m equilateral triangle. Line XY is 10 em and fine
YZis 30-¢m. Find the total tength of the wires he used.
(Take 1= 3.14)

{Goon'to the next page)
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22.  Students were asked to"choose their favourite sport. Thé bar graph below [Do ot write
shiows'thie choices miadé by the students.

100
80

Number of

students 60

40

20 {7
01

What fraction of students chose Badminton as their favourite sport? Express

vi'n' this.space

Basketball Football

Favourite sport

the fraction ini its simplest form.

Ans:

Badminton

{Goon to the next page)
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23. A rectangular piece of paper was folded along AB aind CD to form the'figire | Do rotwrite
as shown bélow. « GBF =80°and  AEF = 70°. Find £ BFD.  {nthisspace

Ans: _ - N

6 (Goonto the next page)



24. A rectangular cardboard, with patterns on one side, is folded to form the |Do not write
shape below. Find the area of the cardboard when unfolded, in this space
9m .
Ans: _ m?
25.

The ratio of the number of pens that David had to the number of pens that
Paul had was 3 : 8. When David bought 28 more pens, the ratio of the
rnumber of pens that David had fo the number of pens Paul had became
2 : 1. How many pens did Paul have?

Ans:

(Go-on to the next page).
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il r. Wh  beg ¢ ‘bags of 10 there w1II 2
s }eﬁav o 'What is the smallést nu‘; er-e:af’beads in fhe box?

Ans.

8 (Go:it tothe next page)

BP-~284

- .. | Do ot write
- {inthis space




BP~285

Do not write

28.  Kartini had a bottle of juice. She drank an equal amount of the juice each. | this space
day. At the end of the 3™ day, she had 1320 millilitres of the juice left. Atthe
end of the 7" day, she had half the bottls of juice lsft. How many.litres of
juice was there in the bottle at first? .

Ans: i ¢

29, Adam had $48 more than David. When David gave Adam $21, Adam had

four times as much money as David, How much money did David have at
first?

Ans: $

(Go on to the next page)
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k| Donotwrits
airy | nthis space

Volume 30 -

lxtres .
( ) 2

:"4
Time (mins)

Statement

False

] Not
| possible ||
to fell

| Tap B dramed , ater out ofthe tank at a

Have'you

10




Term Assessment 2024 (Term2)

Name:

Class: Pr-6-

Date: 3 May 2024

Tirme: 1 h 30 min.

Mathematics
Primary 6
Paper 2
Register No.
Parent's Signature: _

Instructions to Pupils:

SN

Answer all questions.

Do not tumn over this page until you are told to do so.
.. Follow all instructions carefully.

provided for each question. -

. Usea dark blue or black ballpoint pen to write your answers in the space

5. Do not use correction fluid/tape or highlighters.
6. The use of an approved calculator is allowed,
Questions Maximum Mark Marks Obtained
Q1to5 10 |
Q6to17 4 . |
Section Maximum Mark Marks Obtained
Paper 1 45 o
Paper 2 55
Total 100

* This booklet consists of 16 pages (including {ﬁisuoéver page)
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Questions: 1 to 5 cariy 2 marks -each. Shew your warkmg clearly in the: space |Donotwrite
provided for each - questlon and write your:answers in the spaces provided: For | this space

questions:which:require:units; give: your-answers:in the units stated.

(10 marks) |
All diagrams in this paper are not drawn to scale uniess stated otherwise.

1. Joe has two rectangular boxes of different sizes. The length, breadth and
height of the larger box are twice those of the smaller box. He pack ked 48
identical cubes exacﬂy into the smaller box. How many such cubes can be
packed exactly into the larger box?

Ans:.

2. The ratio-of Amy’s present age to Samantha’s present-age is4 : 7. 10'years
ago, the ratio of Amy's age to Samantha’s age was 1 : 3. What is
Samantha’s present age?

2 (Go on to:thé next page)
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3. Kencompleted arace in 160 seconds. He was 45:seconds slower than Raju. | Do not write
Hassan was 10 seconds faster than Raju. How long, in minutes and |0 this space
secorids, did Hassan take to complete the race?

Ans: min. $

4. Wendy can make (3n + 4) muffins in one day. Katelyn can make 4n more
muffins than Wendy in one day. Katelyn and Wendy can make a total of 128
muffins in one day. Find the.value of n.

Ans:

3 (Go on to the next page)
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For Questions:6 to 17, show your working clearly in the space: provided for each Do not write
question and write. your answers in-the spaces provided. The number of marks | nthis space
available is shown in brackets [ ] atthe end of each question or part-question. For
quéstions which require units, give your answers in the units stated. (45 marks)

All diagrams in this paper are not drawn to scale unless stated otherwise.

6. A trapezium JKLM is drawn on-a square grid inside a box.

- * L 4 - > - * [ 3 * L] - - . . .
- . & * - L 4 L » . L] [ ] . . * -
- L - L ] - * » * L L3 L 2 - . L d L ]
- ] L] > * *
- L] L] - - -
. L) L] L] - -
. . - - . .
- * - - - *
. . L] . * » L] & . L3 * - [ 3 - -
L] * L ] L] L] - * - » - » - - - .
- - . - - . . . L3 . . - - - -

By joining dots on the grid with straight lines, draw a triangle KLP such that
its area is half the area of the trapezium JKLM. (3]

5 {Go on {o the next page)
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7.  Kovan Primary School is having a musical. Mrs Teois in charge of printing | Do notwrite
invitation cards:needed by each group for the musical, Tn thisspace

148
120
100 +

Numberaf 80 +
invitation __
cards 60 1=
40 +—

o —I W Fro——
Choir  Danee Club At Club  Band
Group:

The table below shows the cost of printing invitation cards ata printing shop.

_ Printing Charges

'First 200 cards: - “$2.00 each
Next 100 cards $1;50each
Every additional card ~ $0.60 each

How mugch did Mrs Teo have to péy for the total number of invitation cards
printed for the four groups?

Ans: @

6 | (Go on'to the next page)
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The ratio ofthe number of adults to the number of children at a concert was | Do not write
5 : 3. The price of onie adult ticket was $45 while the price of a child ticket | " this space
was $23. The total amount of money collected from the sale of tickets was
$5292. How many adults attended the concert?

Ans: {31

7 (Go on to the next page)
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L Ao R .| Do notwrite
MrSamad spent = of his money on 2:shirts and 3 jackets. Each jacketcost  |in this-space

twice as:much as each shirt, He then spent of his:remaining money on a
wallet. He spent $23:80 more on the wallet than on the 2 shirts. How much

money did Mr Samad have at first?

Ans: _ o 0m

8 (Go on to°thi next page)



10.

The bar graph shows the number of pens donated by Class 6K from
January to April. The number of pens donated is not shown on the scale.

Number
of pens
donated

Jan ~ Feb Mar Apr

(a) What was the percentage increase in the number of pens donated
from January to February?

Ans: 1]

{p) The average number of pens donated in a month from January to
April was 45. How many pens did Class 6K donate in April?

Ans: [2]

BP~295

Do not write
in this space

9 (Go on to the next page)
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1. ABCD isa square and PQSD is a parallelogram. RSC and SDC are
isosceles triangles. RS = RC and SC = $D. /SRC = 82°.

NN
7

g2

N
77
A\

A\

{a) Find £QSD.

Ans(a) 2]

(b) Find ZAQP.

Ans: (a), } R |

10 (Goontothe hext page)
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- Y . 2 . o | Do notwrite
12.  Riannehad some beads. She gave 5} of her beads to her mother. Her sister | in this space
then took — of her remaining beads and an additional 22 beads. Rianne

5
‘was then left with 34 beads. How many beads did Rianne have at first?

Ans: [41

11 {Go on to the next page)
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Iap

e e e o e

(a) What was theAide of the cubical tank?

Ans: (a) [

(b) How many emPof water was flowing out of Tap A ina minute?

Ansite)___

2 {Go on'to the next page)



14.

BP~299

In the figure below, LGC is a straight line. ABC is anequilateral triangle and | Do not write

DEFG is a square. DJ is parallel to AB. ~ DGL = 40 and ZEJK = 58°. inthis space

(a) Find <DKE.

Ans: (a)

(2]

(b) Find ZACG.

Ans: (b)

[2]

13

(Go on to the next page)
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15. Matthew had $72 more:th ‘Cayden. Matthew:spent 90% of his money and |Denotwrite
>ayden-spent 40% of his. In'the end, Caydén has twice as miich moneyas | this space
Matthew- How much money did Matthew have: at first?

Ans: W




16.  The pattem below is made up of shaded and unshaded squares.

Figure 1

Figure:2

§ |

N

N

Figure 3

The table below shows the number of shaded squares, unshaded squares
and total number of squares for each figure.

Figure Ng':‘?:?d"f I:tqu'::eg ‘:; Total Number
Number ace nshade of Squares
Squares Sqguares '
1 1 3 4
2 2 5 7
3 3 7 10
4 4 9 13
10 10 @_ l@__

[

(a) Complete the table by indicating the number of unshaded squares

and total number of squares for Figure 10.

{b) Find the total number of squares in Figure 22.

Do not write
in'this space.

Ans: (b) [2]
(c)  What Figure Number has 79 unshaded squares?
Ans: (c) [2]

15

(Go on to the next page)
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17.

The figure is made Up of 4 identical circles of diameter 30.cm inside a larger

circle with a diamieter of 72 cm. Find the total area of all the shaded parts:
(Take' T =

Ans: 5]

BP~302

| Do notwrite:
|in this space

End of paper |
Have you checked yourwork?

16
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SCHOOL : ROSYTH SCHOOL
LEVEL : PRIMARY 6
SUBJECT : MATH

TERM : 2024 WA2

16) |65
17) |AB,D
18) | L

20
19) | 700

20) | Bus Stop

21) |314x40x°%-=3.14x2=62.8
62.8x2+40x3
=125.6 + 120 = 245.6cm

22) | Total > 50 x 110 + 100
=160 + 100 = 260

Fraction -)%g— = -155
23) | 170°
24) |150m2
25) |20
26) |63cm
27) |72
28) |1.68
29) | $51
30) | False

Not possible to tell

Pgl
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/) bzg b= 2X2X2
3 Cgml boxes )
1 gmall box . 48 cubes
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4gp = S1-Fox4 8= gel 6/ |

Q10 (1) Ton = 20
‘ Teb = au
Ineenge —> 2 —8u=4U
Y

() Ave =45 |
Bl =45xt =1&0
Toal ut Jarto bpr

= Bu + 12u 20 B
= GOUI o
tou = \&C

tw ==
gy = 2XI® =54

&1 ) (o L RCS = 180°;_§3-° - 4q°
£SC D= Q0 -497 =41°
Zepe = H°
~ e - o410 =44
2 68D = 1807~ 49°
= {21 '0{/
. -, ppa =13al’
&> LPP& =12 R
. | SO
< pApa = 1801
2 ppp = 180°- q0°- AT
= AT
= 4 Y
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T 1111,

2z 1o

——

"4 .
Remainder = | ~4= =35

Op+Tp + 22 beads
| Tp +22 bead s
led = 4-5}; [Tp 22 beads
28 p =(34 +22) Leads
= 54 beads
[f) = BEF2% = 2

My

(R

BI2 (ay 186 blles = (EOX1E0) o
' = 27600 oW
Tal lglers 27000 o +57£§J?
- =000 oo 5768
= 32768 em”

pne sfde = A |
- 3

22 %
= 32768 o
= 227468 and 4D

= @(9.2 o

7

Bne =

kY A0 wiy
| o
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£ oy 4}-&& = 4;50
! v{E‘Kj - i 9,—-' 459" .@B
oo -r{a
PKE = 186°-TT°

S 0%

by ZLAFT =5 g°

ZXAF = T17°
< Bhe = 607 Ce%u;icdemlaﬁ)

2 caF = |84 "—qp°
= 50"

&1 x Wh=464.20 (@rew%)
{355.% Y =4 72D C left)
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Q16 a)21,31
b)shaded --- 22
unshaded --- 22+22+1 =45

total --- 22 +45=76
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